

$$z: x+y+z=1$$

$$\left(\frac{1}{x^2}-1\right)\left(\frac{1}{y^2}-1\right)\left(\frac{1}{z^2}-1\right) \geq 512$$

$$\frac{(1-x)(1+y)}{x^2}$$

$$\frac{x+y+z}{x^2} = \frac{1}{x} + \frac{y}{x^2} + \frac{z}{x^2}$$

$$\frac{\frac{1}{x^2} + \frac{y^2}{1-y^2} + \frac{z^2}{1-z^2}}{3} \geq 8$$

$$\underbrace{111\dots}_m \underbrace{122\dots2}_{m+1} S = x^2 \quad x \in \mathbb{N}$$

$$a_{m+1} = a_m + r \quad r \in \mathbb{R}$$

$$r = a_{m+1} - a_m$$

$$a_m = a_k + (m-k)r$$

$$S_m = \frac{a_1 + a_m}{2} \cdot m = \frac{2a_1 + (m-1) \cdot r}{2} \cdot m$$

$$a_{m-2}, a_{m-1}, a_m, a_{m+1}, a_{m+2}$$

$$a_m = \frac{a_{m-k} + a_{m+k}}{2}$$

CGEO 5.000,1

$$a_{n+1} = a_n \cdot q$$

$$q = \frac{a_{n+1}}{a_n} = \frac{a_{n+2}}{a_{n+1}}$$

$$a_n = a_1 \cdot q^{n-1}$$

$$q^n - 1 = (q-1)(q^{n-1} + q^{n-2} + \dots + q + 1)$$

$$a_n - a_1 = (a_1 \cdot q^n - a_1) = a_1(q^n - 1) = a_1(q-1)(q^{n-1} + \dots + 1)$$

$$\frac{a_n - a_1}{q-1} = a_1(q^{n-1} + \dots + 1)$$

$$S_n = \frac{a_1(q^n - 1)}{q-1}$$

$$a_1, a_2, a_3, a_4, a_5$$

$$a_n = a_{n-1} \cdot a_{n+1}$$

$$a_n^2 = a_{n-1} \cdot a_{n+1}$$

$$3, 3, 3, 3, \dots$$

$$\frac{1}{2}, \frac{1}{4}, \frac{1}{8}, \frac{1}{16}, \dots$$

$$a_n = \frac{1}{2^n}$$

$$1, -1, 1, -1, \dots$$

$$a_n = (-1)^{n-1}$$

$$-3, 2, -3, 2, \dots$$

$$a_n = \frac{1}{2^n}$$

$$q = \frac{a_2}{a_1} = \frac{1}{2}$$

$$\frac{3}{2}, \frac{3}{4}, \frac{3}{8}, \dots$$

$$a_n = \frac{3}{2^n}$$

$$1024, \dots$$

$$a_n = 1024 \cdot \left(\frac{1}{2}\right)^{n-1}$$

$$2 \int_0^1 \left(\frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \dots\right) dx$$

$$S = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \dots = \frac{1}{2}$$

$$S = \frac{a_1}{1-q}$$

$$\underbrace{111112}_m \underbrace{2}_{m+1} S =$$

$$\underbrace{1111\dots1}_{2m+2} + \underbrace{1}_{1} + \underbrace{1111111 + 1111111}_{1+10+10^2+\dots+10^6}$$

$$\frac{-3 \cdot 9}{9} + \frac{1(1-10^7)}{1-10} + \frac{1(1-10^7)}{1-10}$$

$$\frac{10^6 + 10^4 + 25}{9} = \left(\frac{10^3 + 5}{3}\right)^2$$

$$\underbrace{1111111111}_{2m+2} + \underbrace{1111111}_{m+2} + \frac{3}{1}$$

$$\underbrace{1+10+10^2+\dots+10^{2m+1}}_{2m+2}$$

$$\frac{1-10^{2m+2}}{1-10}$$

$$\underbrace{1111\dots1}_m$$

$$f(x) = \frac{x + \frac{x}{x^2} + \frac{x}{x^3} + \dots}{1 - \frac{x}{x^2}} = \frac{x}{1 - \frac{x}{x^2}} \quad |q| < 1$$

$$q = \frac{x}{x^2}$$

$$a_1 + a_2 + a_3 + \dots = \begin{cases} S = \frac{a_1}{1-q} \\ |q| < 1 \end{cases}$$

$$q = -2$$

